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m F (t) = mf, cos(3m,t)

m % = —kx + mf, cos(3m,t) (1)
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% +atx = f,cos(3ayt),
(X, + %) + @ (X%, + %) = f, cos(3m,t)
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X, = Bcos(3m,t) (B: ) (5)
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—9w; B cos(3wyt) + B cos(3myt) = f,cos(3wyt)  (6)
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X=X, +% = Acos(ot +a) — 82 cos(3aw,t)
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